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PRIMARY &

DURATION : 2h 153 min

DATE : 11 Miay 2007

INSTRUCTIONMS .

Do not open the bookiet until you are told {o do so.
Folloyw all instructions. -

Answer all questions.

NMame : { )
, . !
Class , :Primary 80 Marks:
100
Parent’s Signaiure
Date | : ¢




Bogxiet A

Questions 1 to 10 carry 1 mark each. Gnaa‘ ons 11 o 1h rar"" 2 marks gach.

For each question, four oplions are given. Oine of them is the corect answer.

Make your choice {1, 2, 3 or 4). Shads the oval (1,2, 3 of 4) an the Ophcal Answer
Sheet. {20 marks)

2

1 An aeroplane travelied 69 570 km. Round off this distance to the nearest
1G00 km.

(1) 69000 km
(2) 69500 km
(3) €9 B00km
{(4) . 70000 km

2 Tina saves $57 a month. How much will she save in 2 years?
1) 8114
{z) - 3684
{3} %1140
(4) %1368
3 Which of the following fractions is NOT equivalent toi’?
B
1y
(1) 13
10
o 10
(2} 15
12
i3 12
DO
14
4 o
(4) 16
4_."',_  Which of the following fractions has the greatest value?
' 3
1 =
(1 2
4
2 i
@ 5.
A 9
3 i
(3) 10
@ 1

2y
n
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5 what is :Z of 1 h4min

(1y 16 min

{(2) 45min
(3} 48 min
(4) 78 min
5 Find the missing value in 3%
1
4 4.—
(1} 3
2
{2} 45
3
3 10—
{3) :
1
4 11—
{(4) 3

7 The figure shows a rectangle. Wha
(The figure is not drawn to scale.)

+B =7

ol

tis the area of the shaded parts?

7 om -

(1) 18cm’
(2) 24cw’
(3) 42cm?
{(4) 84ocm’
3 There are 48 pens and 64 pencils in a container. What is the ratio of the number

of pendiis to the number of pens?

y 2:3
(2) 3:2 .
3 3:4 °
4 4:3
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16

12

)

Vhat is the sum of ihe fourths muttiple of 8 and the sivdn multiple of 37

(1) 50
(2) 48
(3) 14
(4) i1

What is 100 tens less than 1 mithon?

(1) 999300
(2) 999000
(3) 990000
(4) 500000
2

Y H . 1 X 3 )
Z of Jack's mass I8 the same a5 - of Peter's mass. EXpress Jack's mass as @

ratio of their total mass.

{13 a:8
{(2) 5:6
(3) 5:11
(4 & 11

. There are 18 apples and 12 mangoes iﬁ'a pasket. Vihat fraction of the fruits are
mangoes? - '

(H
2)

- {4)

o] N WiN W=

T



13 Timspent

o] W

of the remamndsr. What fraction

of the pockel meney did he save”?

1
Mz
1
(2) 10
1
Gy =
1o
f
4) —
{ r 20

14 Find the area of the shaded trniangle.
{The figure is not drawn (o scale )

10cm_
{1y - 15am’
(2) 24cm?
(3) ~25cm?
(4) 30cm?

15 The marks Meiling and Sufang scored in an English test are in the ratio
3 : 5. If Meiling has 16 marks less than Sufang, how many marks did Meiling

score’?
N 24
2 40
(3) 48
{4) 80

3
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Mama:

Booliet 8

C{uebt

{ } Class: Primary 5 (.

e

icrnis 18 to 25 carry 1 mark each. Wite your answWers in the spaces provided.

quesitans which require units, aive vour answers in the units stated. (10 marks)

2y o

i6 The vatlue of the digit 8 in 487 653 is 8 x
Ans -
17 . Write nine million, sixbundred and five thousand and seventy-three in figures.
Ans:
13 cvaluate 507 x 28
Ans:-
19  How many hours is % of a day?
Ans:
20 - Divide and express the answer in its simplest form.
: 5 )
10
q | Ans:

-



Tt
i

4
Wwhat fraction of 7 — vears is 10 months?
2- W

Express your answer in iis simplest form.

Ans:

N
P

Thare ars 1000 men and women at a party. 300 of them are women. What is the

ratio of the number of men to the number of women at the party?

Ans:

23 The ratio of the number of teachers to pupils at a kindergarten is 17 8. If there
are 96 pupils, how many teachers gre there?

Ans:

24 Siudy the number patterns below.

45
//\
8,QY 3 7
5 g 12
24

- What is the missing number in the box?

Ans:

25  The product of two numbers is 7738. If the smaller number is 53; what is the
bigger number? '

Ans:
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Guestions 26 to 35 carry 7 marks each. Show your working clearly in ihe space beajow
sach guesticn and write your answers in ihe spaces provided. For questions which

require units, give your answers in the units siated. {720 marks)

25 The sum of two numbers is 204. The difference between the two numbers is 13,
Find the larger numberi. :

Ans:

27 182 black and white circles are arranged in the following pattern.

How many white cirgiés are there aliogether?

98 Find the value of 85 + 10 x (80 — 60) + 4.

20  MrLee bought some chairs. % of them were red. The reraining 36 chairs were

white. How many chairs did he buy aliogether?
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bon. She cut nut 3 pieces of ribbons measuring 32 m each to

30 St nad 8a m ofrib
make flowers. Find the iength of the nbbon teft.
Ans: m
31 Whatis the Tnissing fraction in the series below?
(T B T 5 3
4% "2 T8 4
L
Ans:
gy 4 ; y A £ .
32 — of a number 1s 32. Whatis s of the number?
Ans:
- C
33 Find the unshaded area of the rectangie below.

(The figure is not drawn to scale )

10 cm

Scm

Ans: ' em? '?D

co
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horter

(D
4]

34 A prece of wire of MO cm long was cut into 2 pieces in the ratio 8 T
i

£ Fl
piece was bemt orm a square. Ywh _,5 he -ﬁnga.h of the Squarﬂ I

Ans: cm

f May's mass to Nina's mass is 4 3. if May’s mass is decreased by

35 The ratio of Ma
& kg and Nina’'s mass is increased by 1 kg, May wm have the same mass as

Nina. What is Nina's original mass?

Ans: kg

?{i




For guestions 36 to 48, show your working clearly in the space below each question
and wrile your answers in the spaces provided. The niumber of marks awarded is
shown in brackets [} at the end of each question or part-guestion. (50 marks}

35 Mary and her cousin had $400 aitogether. After giving $15 1o her. cousin, Mary
had as much money as her cousin. How much money did Mary's cousin have at
first? .

Ans: {31

37 Zach paid $210 for 84 markers. if the price of each marker decreased by $0.50,
how many more markers could he buy with the money he had?

Ans: Eg3)

-




2
38 of the people at a concert were Wornen and —- of them

i
were 420 men Now iany women were there at the concert?

ol e

were children. if there

Ans: - {31

39 The square ABCD of side 14 cm has the shaded area cut off.

© and E are the mid-points of the sides AB and AD respectively.
Find the area of the unshaded part of the square.

{The figure is not drawn o scale.)

}5 | : Ans: B

PS5 Math SAT 2007 { @ M-



40 Al had $189. Ha bought 6 DVD which cost nim $18 each. Find the ratic of the
amount Ali spent to the amount he had teft.

Ans: {31

Ly Navid saved $9 every day. After a number of days, he used all the money that
ke had saved to buy a few storybooks that cost $21 each.

{a} Whatwas the least number of’-:days that he needed to save in order to buy
the storybooks?. ' . _

(b) How many storybooks did he buy? -

Ans: (a) E .
{b) M
5
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AZ Thers were some markers m a sox - of ihe markers were hiack and the rest
5 . L. 2 .. , .
were red. 3 of the biack and 3 of the red markers were taken out from the box
and there were 1141 markers left in the box. How many markers were there in
the box at first?
Ans: ' 4]
: ) : . 2 . . ! 1 .

43 Navid had some durians. He sold c of them in the afternoon and 5 of the
remainder in the evening. There were 30 fewer durians scid in the evening than
in the afterncon. :

(a) How many durians did he sell in aii?.
(b) I he sold the durians at §5 each, how much money did he collect altogether?
Ans: {z iZ]
T
b ) 12]

P
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R

A4 The figure below shows rectangle PQRS. (The figure is not drawn o scale.)

(@) Find the shaded area.

20 cs

Ans: (a) ____ i3

by ___ (1]

Y
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A group of people met at 2 party, Each person n shook hands with everyone else.
i L,e shook hands with 4 imes as many men as women. Mrs Lee shook

ds with 5 times as many men as woimnen.

How many men and how many women were at the pariy?

Ans; men

i

women {5] |




Wendy baked some muffins. She packed haif the mutfins equally into 6 tins and
the other haif equaily into 8 boxes. There were 68 muffing in 2 tins and 3 boxes
altogether. Ho ow many muffins did she bake’?
Ans: 5]
o
i#




. 1 L2 . i
Alice read - of a book on Thursday, = of the remainder on Friday and 40 more

& -

pages on Saturday than on Fricay. She read the last 110 pages
(a) How many pages were there in the pook?

(by What fraciion of the book did she read on Saturday?
(Express your answer in its simplest form.)

Ans: (@) _

on Sunday.

(3]

(®)

21




Theo table

F g
Y oivir ey

Two famities weni o a restaurant for a buffet dinner last Sunday.
shows the number of peopte who went for the dinner and the amouit

paid.

N
)

| , Tan Family ?REK_Fi iy
Number of aduits 3
Number of children 3 D
Total amount paid | 3180 240
f ;

The amount each adult paid and the amount each child paid was in the ralio 3 1
for the buffat dinner.

{a)  How much did each child pay?

(I} Find the number of aduits in the Koh family who went for ihe buffet dinner.

| Ans:' {(a) i2]
| (b) (3]

NI

End of Paper
— CHECK YOUR WORIK CAREFULLY —




16,

i8.

32.

34.

{'ong Primary School

Q1 02 Q3 Q4 05
4 4 . 3 3
Q6 Q7 Q3 Q9 Q10
i 2 4 1 2
Q11 Q12 e Q14 G5
3 3 3 1 1
10600 17. 92605073
14196 i9. 1éh
! !
" 25, 5
2
7:3 23. 12 teachers
42 25. 146
111 27. 46 white civeles
i35 29. 60 chairs
3
o 31. 12
8
12 33, 27em’
1%cem 35. 21ke




38.

L
NS

40,

4ia.
41b.

42,

43a.
43b,

44a,
44p,

3210 — 84 = 52.58
$2.58 — $0.50 = 5100
210 - 32 = 165

185 — 84 = 11 more markers

3
+
& 16
o 3
o+ = =
16 16 16
6 -9 =7
424 — 7 = 68
£0 = 6 = 360 women

—i— x 14 x 14 = Wem?

98 — 24l = ’73i(:m2
2 2

4:3

7 days

563 = $21 = 3 siorybeoks

iR markers

210 durians
1850

150em?
2

3
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LA

46,

47z,
47h.

484,
48b.

25 men 6 women
192 muffins

360 pages
5
18

515
3 aduiis
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